ANNOUNCED QUIZ #3 — ME 3030 — Section 001 — Fall 2025

This is an open book quiz. You may use a four function calculator. An unsigned honors pledge will
result in a zero.

1. Consider a Carnot power cycle that uses 3.13 kg of ammonia as the working fluid. The
isothermal compression occurs at a pressure of 1.25 bar and takes the fluid from a mixture
with a quality of 91.00% to a quality of 12.00%. Determine (a) the work during this isothermal
compression in units of kJ; (b) if the efficiency is 33.00%, what is the temperature of
the 1sotherma1 expansion in K7
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